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PREVIEW QUESTION BANK(Dual)

Module Name : English
Exam Date : 14-Jun-2023 Batch : 09:00-12:00

NSE Client l%uestlon Question Body and Alternatives
Objective Question

1 |B0001| 7,q following table shows the number of males (M) and females (F) (in thousands) in Towns X and Y

during the five years from 2018 to 2022. Based on the data in the table, answer the questions 1-5

Year wise numbers of Males and Females in two Towns (in thousands)

Town X Town Y
number of number of number of mumber of
Yeas Hales females males females
2018 50 49 53 50
2019 52 49 54 52
2020 55 52 ) 54
2021|53 53 58 56
2022 55 52 62 a5

What is the ratio of the average number of males in Town X to the average number of males in Town Y for
the given period?

. 269:282
. 265:281
. 265:283
. 265:282
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Objective Question
2 30002

269 :2
265 :
. 265 :
. 265 :

50
52
55
53
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Fofafaa aifers & ad 2018 ¥ 2022 % o9 a9 & aRE X R Y el # gei (@) SR At @) 1 ¥en GuR 9
2uE TS &1 A1 & SfEHS] B SUR UL Wy 1-5 6% & SoR alferd|

31 7t & Aftenait iR geul @ adar dem EeR

=Y X TRY
Ul @ gEm Awel B S qpul @1 g Afgene #1 g
49 53 50
49 54 52
52 55 54
53 58 56
52 62 55

282
281
283
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2018 50
2019 52
2020 55
202153
2022 55
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Town X

number of
females

49
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53
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58
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The following table shows the number of males (M) and females (F) (in thousands) in Towns X and Y
during the five years from 2018 to 2022. Based on the data in the table, answer the questions 1-5

Year wise numbers of Males and Females in two Towns (in thousands)

Town Y

number of
females

50
52
54
56
55

For town Y, the percentage ncrease in the number of females for a given year with reference to the previous
year is maximum in the year

Fofofaa @ifere & af 2018 F 2022 % 99 a9 & IRE X R Y ®e<i # goui (7)) SR Atz @) 1 e GuR )
T T 21 ARE F fiEe! ¥ oMUR W U 1-5 a6 F I Sl

"E X e Y
o P W | AWl A gen | To0 @ gen | A o ge
49 53 50
49 54 52
52 55 54
53 58 56
52 62 55

55

R Y % Ry Fal fog u o & ARenell @) wen & udadl af & el # of @ i fw o & siftea &
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Objective Question
3

years

2018 50
2019 52
2020 55
2021 53
202255

1. 86.6
2.89.6
3.81.6
4. 845

af

2018
2019
2020
2021

2022

. 86.6
89.6
81.6
. 845
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number of
females

50
52
54
56
55

30003 The following table shows the number of males (M) and females (F) (in thousands) in Towns X and Y
during the five years from 2018 to 2022. Based on the data in the table, answer the questions 1-5

Year wise numbers of Males and Females in two Towns (in thousands)

The population of Town X in 2018 and 2019 together approximately
of Town Y in 2021 and 2022 together?

Frofa arferet # 9 2018 § 2022 0% U9 a8 & o= X SR Y W5 ¥ 7o' (@) SR Aftensh @) $1 ¥en gor 8
TS TS 21 e ¥ offmst ¥ ofuR W 9H 1-5 0F ¥ I Sl

50
52
54
56
55

af 2018 =k 2019 # wEe X =+ wftafea wem, of 2021 ik 2022 & mex Y &1 9ftfem e =1 @y
% &7

---% of the population
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Objective Question

430004/ e following table shows the number of males (M) and females (F) (in thousands) in Towns X and Y

during the five years from 2018 to 2022. Based on the data in the table, answer the questions 1-5

Year wise numbers of Males and Females in two Towns (in thousands)

Town X Town Y
number of number of number of mumber of
YEAS males females males females
2018 50 49 53 50
2019 52 49 54 52
2020 55 52 55 54
2021 53 53 58 56
2022 55 52 62 55

Find the number of years in which the number of females in Town X and Y is less than their respective
average numbers in these two towns.

. One, two

. Two, Two
. Three, Two
. Two, one

B
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Objective Question
5 30005

a5
3a54
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The following table shows the number of males (M) and females (F) (in thousands) in Towns X and Y
during the five years from 2018 to 2022. Based on the data in the table, answer the questions 1-5

Year wise numbers of Males and Females in two Towns (in thousands)

years

2018
2019
2020
2021
2022

number of
males

50
52
55
53
55

In which of the following pairs of years. the difference in the number of males and females is maximum for

Town X

number of
females

49
49
52
53
52

mumber of
males

53
54
55
58
62

town Y and minimum for Town X respectively?

. 2018 and 2021
. 2022 and 2018
. 2022 and 2021
. 2020 and 2022

b =

S S

Town Y

number of
females

50
52
54
56
55

Fofofaa @ifere & af 2018 F 2022 % 99 a9 & IRE X R Y ®e<i # goui (7)) SR Atz @) 1 e GuR )
T T 21 ARE F fiEe! ¥ oMUR W U 1-5 a6 F I Sl

& =t & Afgenadt ik geut @1 oo wen EuR 8

- et X [ET Y
ol  HEn | ARl A gen | g @ gen | ARt 9 g
2018 50 49 53 50
2019 52 49 54 52
2020 55 52 55 54
2021 53 53 58 56
2022 55 52 62 55

fmfefEa fea & adf § gedt ot aftensl & den 1 @ Faw: v Y & 0 afisan v mer X & fog sgaan &

1.af 2018 3k 2021

2. @ 2022 #R 2018

3. o 2022 3R 2021

4. 7 2020 3w 2022
Al
1
A2 5
2
A3 3
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Objective Question

6 30006 which of the following is a major advantage of online learning over offline learning?

1. Limited access
2. Flexibility

3. High cost

4. Inter-activity

frafafaa & sifharg siferm ot qa- T siAdrg SR &1 7E Ty &HF -31 82

Hiftd uge

. T

3,39 ArTd

4. RN fehareadt

b =
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Objective Question

730007 \which of the following are the benefits of collaborative learning environment?

A. Improved communication skills

B. Decreased understanding of different perspectives
C. Increased motivation

D. More opportunities for personal feedback

E. Enhanced problem solving abilities

Choose the correct answer from the options given below:

.B.C &D only
.A&E only
3.A.C.D&E only
4.A.B & D only

o =
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Objective Question
8 30008 wWhich of the following are the basic requirements for effective teaching?

A. Teaching only what is included in the eurriculum
B. Good communication skills

C. Using a rigid teaching approach

D. Excellent subject knowledge

E. Ability to connect with students

Choose the correct answer from the options given below:

1.A & C only
2.C & E only
3.B.D & Eonly
4.A.C & D only

fafafad & SH-oH nuid R 3t gayd sravasan 8

A. DI del T80 HIAT S UreT=at § i B
B. 331 TUY0 1A

C. TG IRI&01 SUNTH &1 vl

D. [qwg &1 3Py 9

E. faanfial 9 9 &1 aman

A feu T fam eyl § 9 98l 3R &1 994 Pifer ;

1. FAadAARC
2.%dd C 3ARE
3. %dd B, D 3IRE
4.FAAA. CIARD

Al
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Objective Question

9 30009 Given below are two statements:

Statement I: Choice Based Credit System (CBCS) has been adopted only in the central universities of India.
Statement II: Choice Based Credit System (CBCS) assigns credits based on the learning outcomes of a course.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I 1s false but Statement IT is true

RIEEIE AR E

gﬂql:au:r&nwﬁﬂmzwnﬁﬂ(ﬁtaﬁﬁw.)ﬁm YR & &= 14 fagidnaai o sifieR fobar mar
i

gu_;i%: TG TR hisc HumTal (FlSLHLEH.) HiousmH & SifEiH Hiawd o) STRd shise Had
|

SR Y- & HTale 1, - 13U T f[dhetl T ¥ 9a¥ Iugad 31 &I 987 i |

YT AR I S 9T §
HYF 1 R I SHI TEd &
YT 1 UE! &, Al HUF 11 TTEd ©
YA 17T ©, At U 11 U8l §
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Objective Question
10 /30010
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Given below are two statements:
Statement I: Moodle is an example of a Learning Management System (LMS)
Statement II: Mentimeter is a tool used for creating online surveys.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I 1s false but Statement IT is true

EIE AR AIE A gl I

PY 1 : S A UFY= YUITeH (THUHUH) 1 U JaTerul g

Y 11 : HicHIeR U SR ¢ foruept SffFarsd Gaamn & i & yai fear srar g |
ST B & 3HTele 1, - U fadbel ¥ 9 9a¥ Iugead SR &1 99 i |

HYF 1R GH Tl & |
L HYF 1 SR I G T &
DY 1 &I 8. Afthd S 11 Tad ¢ |
DY 1T10d &, A HYH 11 Gl &

[

=W

Al
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A3
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Objective Question

1130011 Arrange the following steps involved in a research process in correct order

A. Collecting the data

B. Reviewing the literature

C. Reporting the research outcome

D. Identifying a research problem

E. Analyzing and interpreting the data

Choose the correct answer from the options given below:

1.A,D,B.E,C
2.D,A,B,C,E
3.B.D.A.E.C
4.D.B.A.E.C
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Objective Question

12130012 Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R
Assertion A: Experimental research allows you to eliminate the influence of many extraneous factors.

Reason R: In experimental research variables are actively manipulated and environment is as controlled as
possible

In the light of the above statements. Choose the correct answer from the options given below:

.Both A and R are true and R is the correct explanation of A

.Both A and R are true and R is NOT the correct explanation of A

A is true but R is false

. A s false but R is true

9 Sl T fRU MU § : TP SfUHUT (Assertion A) &0 H fifEd 8 1 GHRT SUD BRUT (Reason R) T
O H,

SHBYT A : TOITIHS SFIHT U] P aTe] PRI P UHIE DI G B BI AN A3

SRR : TIRTES 94 § o1 § 9ihd U F 80 a1 o1aT § SR ardia=yl &1 gyRiye Fafa
fraT ST 31

SR HY & Tl 1, - U T f[ddedl ¥ 3 968 Iuga SR D1 997 Bl |

b =

o

A JRRIATTT 3IRR, A B G ARAT

A SRR IH AT, APAR, AT T AR TR
ATI R APIR 3T

 ATIE, APTRITE

b =

W
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Objective Question

13130013 e property of data such that research results apply to situations beyond the particular sample of individuals/
items observed in a single research setting. refers to

1. Internal Validity

2. Convergent Validity
3. Divergent Validity
4. External Validity

&< D1 g8 10 o™ ST URUMH (=il U SrIH araraRul 3 sfaailieed oaidadl / 74l & fafRmy
gl 9 e Rufdl o= @ g1d 8. 99 o el offl 82

. ffafes g
AR ayydn
TR derdr
ST dud

R

Al
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Objective Question

1430014/ Given below are two statements:

Statement I: The purpose of a blind study is to prevent the participants from figuring out what the
experimental wants.

Statement II: Interaction between the experimenter and the participants is always beneficial in social science
research.

In the light of the above statements. choose the correct answer from the options given below

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
. Statement I is true but Statement II is false
. Statement I is false but Statement II is true

o =

S Y]
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Objective Question

15130015 A pesearcher computes sample correlation coefficients ry. 15, 13 and 1, from four different samples and obtains

their p-values 0.99, 0.999. 0.05 and 0.005. respectively. Correlation coefficient significant at 1% level 1s

1'1

1‘2

1'3

1‘4

U SFIHUTPAl IR SRS Hidazll I Hidasl 96 [ae 0N 1 rs. 5 3R r, BT IVHAI B 8 3R
G p-H1F HHI: 0.99. 0.999. 0.05 3R 0.005 WK BT § | 1 B 1 TeHas 0D 1% WR IR AP 57
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W
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Objective Question
16 30016
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. Colour printing
. Radio

3. Television

4, Internet
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Objective Question

1730017 Eeedback is immediate in

. Print

. Broadcast

. Top-down

. Face-to- face

b =

o

e
.W@@wy
.19 B13A

U (H-2-5hH)
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Objective Question
18 /30018
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Vladimir Zworykin was associated with the invention of

WeRR saife HafaRed 8 O f5gd fdwR I gEg U2

communication.

YU T BISad qid [GuT S g |
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What are the advantages of digital media?

A, Network communication is avoided.
B. People can create and distribute media content.
C. The end-product can be delivered in real time.

D. Reproduction and distribution of information products are less expensive.

E. Online political involvement is of no importance.

Choose the correct answer from the options given below:

o =

.A.B. Conly
.B. C.D only
3.C.D.E only
4. A, B.E only

fefrea difsar & oy wam &2
A. S0 edd Guvu gl sl g
B. 7T Hifsar fowa-axg g oik faalka o= w@d €1
C. 3ifoH Iare o1 uerrl aRdfde g9g | ©f o 9ad! 21

D. 1 IHG] BT THcdre 3R [&av0 9 @i o
E. ST SIS Sfreidr o1 18 7ot el o

i feu U fadedi T 9 Il 3TR &1 98- DI :

1. $ad A, B, C
2.$ad B, C.D
3.%addC, D.E
4. HATA.B.E

Al

A2
A3
A4

4

4
Objective Question
19130019 \rhich of the following factors affect mediated persuasion?
A. Extended media reach
B. Round-the-clock communication
C. Media differences

D. Audience fragmentation
E. Message characteristics

Choose the correct answer from the options given below:

1. A.B. C only
2.B. C. D only
3.C.D. E only
4. A, B.E only
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Fafafed § 9 $H-8 SR aftd orf7a &1 Hisear &f nuifad &d g2

A TS @1 faeaid ugd
B. 9419 9¢ gm0

c. Hifsar 1 gafirsar

D. gid1 &1 fagsq

E. Jox &l fa=ivang

i feu T fam eyl § 9 el GR &1 994 Bifer ;

1.$dd A, B, C,
2.%4d B, C,.D
3. %dd C,D.E
4. $PddA.B.E

Al
A2
A3

Ay

4

Objective Question

Given below are two statements:

Statement I: Propagandic communication at the National level is supposed to recognize the fact that truth
need not be separated from falsehood.

Statement II: The mediated propaganda process blurs truth and falsehood in order to be persuasive.

In the light of the above statements. choose the correct answer from the options given below

. Both Statement I and Statement IT are true
. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

12 & e ey Mo '

YA : TR W HA-FAR el Ty § 59 9 o) WoR G501 31 ¢ & 99 & 56 3 9U$
ford ST Pt SHraRamdr e 8|

B 11 : aled SY-UER Wihal ¥ 99 3R 318 & §19 &1 g 3Ry §Idl & e Ug [ayraiared g
g |

SWRIT DY & el 1, - [3U 7Y fddeul d 3 9o Iuge STk D1 997 iy |

b =

HYT 1 AR U A T ©
HYT1 AR A 3T &
FHYTIIT R, AP HYT I 3T
FHYT I T R, AfF T pYT n ga g

ko =

W

Al

1
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Objective Question

2130021 ywhat number would replace question mark (?) in the series below?

1.5,4,F.5.12,17:5,24,31.5, 7

JBLAJIJD—‘
da o Ln
lCDO'O'Jl

Ln

3

ﬁﬂ%mﬁu@mﬁﬁap}ﬁwﬁf@mmﬁqﬁ%ﬂ

1.5 47512 17524 3157

F R R
I T
h O oo Lh
Lh
Lh

Al
A2
A3

Ay

4
Objective Question

2230022 1£ man invested 220,000 in some shares in the ratio 2:3:5 which pay dividends of 10%, 30% and 20%,
respectively, on the investments in that year. Find the total dividend income of the man.

24200
34500
4800
5000

TS At $8 AR 5 F. 20,000/~ B A 2:3:5 F 300 H o0 I TRA SH ST N & Fag R
BT 10%, 30% 37X 20% B ATHIR ST YTAH BIdT § | 39 aafdadiga aruier Sid I1d Sifo|

o =

[ V]

1.3 4200
2.3 4500
3= 4800
.= 5000

O]

Al
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Objective Question

23130023 The simple interest on a certain principal amount for 4 years at 10% per annum is half of the compound
interest on T 1000 for 2 years at 20% per annum. Find the principal amount

. 2500
. 3450
3.20650
4. 2550
TS T gaey= IR W 10% arftfe =19 & 9 4 Y 8¢ TYRU &6 F. 1000 S AYT TR 20% dIHD
ST &3 ¥ 2 T8 & Thqhg SISl BT S1E § | FEeH J1d Diorg|

o =

1.3=500
2.3450
X630
=550

OS]

Al
A2
A3
A4

4

4
Objective Question
24 130024 1) a certain coded languages:

A. 'Best way to win' is written as 'bau mau shau sa'

B. 'The way to hell' is written as 'tau mau sa hau'
C. "Win of the day' is written as 'shau fau tau dau’

What is the code for "hell' in this language?

"hau'
. 'man’
. 'shau’
. 'tau’

o =

N N
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Objective Question

25130025 A man travels from his home to his office at a speed of 4 km/h and reaches his office 30 minutes late. If his
speed had been 6 km/h. he would have reached office 5 minutes early. Find the distance of his office from his
home.

.8.5km

7 km

.8 km

.9 km

TS SAIGHT 397 BR ¥ Siffthy & forg 4 o 1. wf b ot ara § am &1 ¢ #R 30 fiFe &R 9 siftew
Ugadl 5| afe SHD! =1 6 fopwl wict Hel gichl di as 5 fire uga Siifthd Ugd Sl | 39 R 9 395
ST (PTaied) B gel J1d Hiet|

b=

o)

.8.5km
.7 km
.8 km
.9 km

R

Al
A2
A3

Ay
4

Objective Question
26 30026
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Given below are two statements:
Statement I: 'The jar does not exist’ is common to all kinds of non-existence.
Statement II: 'The jar will exist' refers to previous non-existence.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I 1s false but Statement IT is true

SRR ATE A gl I

BYA 1 : TR P KA 5l & 9 UPR & IR-3HKId & F0H g

BYTIT : R DT SR BRI Yd R - ST | Hafda g1

SWIE Y- & HTales 1, i [3U T fadbeui ¥ 9 9ad Iugad Sk &1 90 Sl |

PHYF 1 R 1 H Tel Bl
HYF 1 R I EH TAd &
DY 1 &I 8. AfteT S 11 Ted & |
DY 1 TT0d &, Al HY— 11 el &

[

=W

Al

A2

A3

Aty

4

Objective Question

27130027 1) the light of nature of reasoning and argument pick out the incorrect statement(s).

A. An invalid argument can have any combinations of truth or falsity in the premise or conclusion
B. No valid argument can have true premises and a false conclusion

C. Deductive arguments can be 'almost valid'

D. Valid does not mean true.

Choose the correct answer from the options given below:

A&B
B&C
£
D

b2 =

Lo
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% T4 I 1 Upld & Sl § ol =/ YA o1 9 :

A SR a1 g1 py 3 fadl s gida o 9 Siual SRIadl 31 Iy 1l TaioH g 9l o
B. ot +ft a1 e & I sneRarey SR o frsed 78 g1 awar 21

C. FATaATHS gidal T I B Habd! ol

D. T &1 3R 9 el el &

i f[Su T fa eyl § 9§ 9El 3R &1 994 Bifer ;

1. $adARB
2. A B AR C
3.%gdC
4.%dd D

Al

1

A2,

2

A3

3

My
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Objective Question

28 130028 : 3 - z - :
Identify the fallacy committed in the following argument:

"Capital punishment is morally wrong because it is cthically impermissible to inflict death as punishment for
crime"

1. Two wrongs make a right
2. Look who is talking

3. Begging the question

4. Scare tactics

fFrafaRad gie § bt T4 O a9 &1 gg I -
“GES HdeeY 4 e g i S{URTY o AT PSS &l i &0 4 S &1

1. &1 7Tad R 9gl s 9
2. 3@ DI a1 PR IET B

3. TSI &I

4. S ATl gfe |

Al
A2
A3

A4
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Objective Question

29130029 \fatch List I with List I1

21_Live_English_B1_E_1-150.html

LIST I (concept) LIST II (Definition)
A JArgument I |A deductive argument that either is invalid or has atleast one false premise
B. [strong argument | II. |An inductive argument m which the conclusion does not follow probably from the premises|
C. [unsound argument] ITI. |An induetive argument in which the conclusion follow probably from the premises
D. |weak argument | IV, |A set of statements in which a claims (conclusion) is defended with reason (premise)

| S

o

. A-L B-II, C-III. D-IV
CA-IL B-IV. C-II1. D-I
AL B-I. C-IL D-IV
. A-IV. B-I1I. C-I. D-II

it 1 1 gl 11 9 fie= Sifee

Choose the correct answer from the options given below:

b =

O]

Al
A2
A3
A4

4

4

Objective Question
30 30030

1. Vyakti
2. Akriti
3. Jati

4. Vyakti- Akriti-Jati

. A-L B-II, C-IIL. D-IV
. A-IL B-IV. C-II1. D-I
AL B-I. C-IL D-IV
. A-IV. B-11I. C-I. D-IT

SRS T 11 gRHTaT
A |dfs 4 gm&@a}gﬁ%ﬂ%@ﬁ?ﬂ%mﬁwﬂﬁ
B. | & gad I %%ﬁ'ﬂm‘ﬁ?&wﬁﬁﬁﬂmw;&nwwqﬁ
C. | Srgfdged it m Wa"'gf'd*q”ﬁ?mwﬁﬁﬁﬁw:anwwg
D. |gda g v %ﬁ%@gwﬁwﬁwmmaﬂmmm
frafafad famedl & 9 9t SR o1 9 BT -

According to Samkhya school of thought a word signifies
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Objective Question

31130031 o computer processor will operate fastest when the data that it wants is in the

. Cache Memory
. Hard Disk

. Optical Disk

. Main Memory

B YRR FaY S T & $H S 6" 6] aild Srel EESGIE

B

1. P AR
2. 8T8 &
3. AU (S
4. T OO

Al

A2
A3
Aty

4
Objective Question

32130032 yWhat is the binary equivalent of the decimal number 85.1257

.(1001001.111)
.(1010101.101)
.(1100101.001)
.(1010101.001)

B
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SR A1 85.125? Pl g IR} TOgea 1§ 2

1.(1001001.111)
2.(1010101.101)
3.(1100101.001)
4.(1010101.001)

Al
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A3
A4

4

4
Objective Question

33130033 Given below are two statements:
Statement I: Shareware is a software that the users can try out for a trial period only, before being charged.

Statement II: Freeware is a software that the users can download free of charge. but they cannot modify the
source code in any way.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II is true

12 & e ey Mo '

HY 1 : VIRGTR TP W § forreh 7 g § U o 9 Ugdl S $ad Sid-0Ra afy & R
-0k B B S B 71

DY I : IATR U HIFedTR & for gord (H:X[ed SI3IS PR Uebd 6. ol d fbd] YPR Hid oIS 4§
e 71 DR Y ¢ |

SWRIT DY & e 1, - [$U T fadedl § 3 9a¥ Iugad SR D1 997 il |

HYT1 AR U A T ©

P AR A I §
HYTIII R, AP HYT I T
FHYTI AT R, AfFTpYT A g

B R

Al

A2

A3

A4
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Objective Question
34 30034 Danny

digplays are true?

ATt is a flat panel display

B. It creates images using red. green and blue diodes.

C. It is not very energy efficient and gives off heat

D. It can be used in mobile devices such as smartphones and tablets
E. It is always a front-lit display

Choose the correct answer from the options given below:

1LAB&D only
2.A.C & E only
3.B.D & E only

4. A B.D&E only

e §?

A TB I §97 3T gar g1

B. T A, T 3R 1l STATS BT SYA Hxd g4 38 sl g

C. T8 ST ol 34 81 81T § R 339 F] et 3

D. T TIE B 3R Tacicd ol Aialed [sarsas 3 WIa a1 ol §aal gl
E. U8 gHYN Te-fore f3aa giar 2

i feu U fadedi T | 95l SR DI 9 @101 :

1.%ddA. B 3R D
2. $ATA. C 3IRE
3. 990 B, D IR E
4. PITA.B.D ARE

1
A2 5
2
A3
3
M
4

Objective Question

35 130035 ©\fatch List I with List IT

is buying a new computer that has an LED display. Which of the following statements about LED

1 teis o1 foua gad U 91 $reger WG X6 § | Uhss! f5vd & ar # Fafafad § § o 3 dud

LIST I (Data Transmission modes in computer network LIST II (Description)
A [Simplex 1. |Data can be sent and received at the same time.
B. [Duplex I1. |Data can only be sent or received.
C. [Half- duplex I11. [Data can be sent and recerved but not at the same time |

Choose the correct answer from the options given below:

1. A-IIL B-1. C-I1
2. A-L B-IIL. C-II
3. A-IL B-IIL C-I
4. A-II. B-1. C-III
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et 11 ol 11 ° fired= ifore

TR wwoew

i |t ¢ %?Ewﬁwmwaﬁqw%mm
B [smw 1L | STl &l Bad Holl I1 U (a1 ol Gabdl &

Y = gaﬁ%ﬁwﬁmww%%%
frafaRa fasedl & 9 et STR &1 99+ Bty :

1. A-IIL B-L. C-I1
2. A-L B-IIL C-II
3. A-IL B-IIL C-I
4. A-IL. B-1. C-III

Al
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A4

4

4
Objective Question

3630036 Given below are two statements:
Statement I: Volatile Organic Compounds (VOCs) are emitted from vehicles.
Statement II: Volatile Organic Compounds are emitted from some trees

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II is true

TS ey faumuE:

FYF 1 a6 U arwRiia drei-e e @disi) Fead 8l

WU 11 : S g4l J ATl Blaf-ep AT e g1

SWRIT Y- & el 1, - [$U T fadeul § 3 9ad Iugad Sk &1 997 i |

U1 AR I S el ]
FPUY 1 AR I A Tad B
. FYF 1 UG B, Al HYF I T B
.Y 17T €. A YT I 98T B

[ ST

o

Al
1

A2,
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Objective Question

37 (30037 Light Water Reactars (LWR.) are nuclear reactors

oy

. Which use heavy water as a coolant

. Which use graphite rod as moderator

. Which use ordinary water as moderator
. Which use steam as moderator

1 oTd Ruger (TassegsiR) Tiien Ruax g

R SV )

4

B

1. foe Sfiqae & 0 & uift 5a &1 v fem Sar g

2. foFH sravice & = § Iwrse IS & W fhar st §
3. o sfare® & =0 ¥ 9 Oid 1 WA fhar Sar g
4. f5¥ sigvies & T9H U9 o1 v fear S gl

Al
fxz
A3
A4

4

4
Objective Question

38 130038 Given below are two statements:

Statement I: Biomagnification occures when the toxic burden of large number of organisms at higher trophie
level is accumulated and concentrated in the organisms at lower trophic level.

Statement II: The effect of toxins are magnified in the environment through food webs.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
. Statement I is true but Statement II is false
. Statement I is false but Statement II is true

Lo
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FYF 1 : Old =Y UINUH &R & HUSH G § oiia) & [aurad arst HHaR Ui R & oifdl 8 dhad
3R IS §IaT 8, df 9ig 31aeH gla g

FUYT1: TS 39 S TNH J gaiaror  faurad gerdf & yua & ofg et 71
TWRIG DY & 3HTelid T, 4 30 70 fabedi T 99 Jugdd STk &1 90 DIl -

PYT IR IS T8
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YT IR, AfPT Y I T ©
Y 1717 ©, W] Y 1T 98l &
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Objective Question

39130039/ Given below are two statements:
Statement I: Exposure to noise pollution adversely affects the physiological health of a person.
Statement II: Exposure to noise pollution adversely affects the psychological health of a person.

In the light of the above statements. choose the correct answer from the options given below

. Both Statement I and Statement IT are true
. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I 1s false but Statement II is true

:ﬁ%awﬁﬁﬂﬂ%’:

FUYFT: TR U TH T T & ISURH ¥ fad & S1fie Wea R Ulasd JHE 081 6|
T 1 : TR 9 gF ATl YEUU & ISUEH ¥ gfad & THIaRiFS Wl )R vidgd 94 9Sdl 6
SWRIT B & HTelle 1, - U U fadb el § 999 Iuget SR &1 99 DIl -

=

B 1 AR 11 S TSl §

YA AR 11 SF1 TTd ©

Y1 TSl 8. AT pY 1 Tad &

. HYF 1 7T0d 8, At HUT I e &

O

Al

A2
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Objective Question

4030040 ) fost of the countries in International Solar Alliance lie

. Above tropic of cancer
. Below tropic of cancer
3. Between tropic of cancer and capricorn
4. In the Southern hemisphere

RIS R TeseE ard e 4 wel Rud § -

b =

1. TP @& TR
2. PG & A
3. T TGT 3R AH 3G & g
4. Sf&roft Mers 5

{\1
A2
A3
A4

4

4

Objective Question
4130031 Given below are two statements:
Statement I: The Upanayana ceremony which marked the initiation of a child into a study of the Vedas was
performed for boys as well as for girls.

Statement II: Both boys and girls received education in 'Ashrams’ and 'Gurukulas' in ancient India.

In the light of the above statements. choose the correct answer from the options given below

. Both Statement I and Statement IT are true
. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

b =
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Objective Question

4230042 Given below are two statements:

Statement I: According to NEP 2020, at present the investment in research and innovation in India is only <1%
of GDP.

Statement IT: NEP 2020 recommends the establishment of a National cwrriculum framework for Teacher
Education

In the light of the above statements. choose the correct answer from the options given below

. Both Statement I and Statement IT are true
. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II is true

T ey fRumu E:

gﬁgl:?%@Hﬁﬁ:ﬁﬁmzo%&mﬂ?ﬁ%ﬂwﬁlﬂ?ﬁﬁﬁﬁﬂGﬁ?ﬂﬂﬁﬁﬁﬁﬁﬂﬁ%lm
FHT

HYT 1 : AP Riefm il 2020 Rierep e & g AT qrem=ai FovEn B I B w4l &l
SWRIT Y- & Tl H, - [$U T fadbeul H 999 39ga SR &1 99 DI :

b =

PYT1 AR I ST TS ©
Y1 AR I 1 A ©

FHYTI TS E. AFT FY 1T §
YA 1 7T 8, A YT I el §

b =

W
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Objective Question

43 130043 T first Education commission of India also adhered to

1. The one-language formula
2. The two-language formula
3. The three-language formula
4. The four-language formula

TUH YR [R1e sant § Hafefad o o1 -

1. T YT BrHe
2. fgmsn
3. By

4, FquiT BT

Al
A2
A3

Aty

4

Objective Question

44130044 1) the light of changes introduced to the existing universities under the Indian Universities Act 1904: which

among the following is incorrect.

A. An enlargement of the functions of the universities

B. The introduction of the new principle of election to the senate
C. Easier conditions for affiliation of colleges to a universities
D. Definition of the territorial units of the universities

E. Increase in the size of the universities senate

Choose the correct answer from the options given below:

A&B
A&D
3. B&D
4. C&E

bJ =
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Objective Question

45130035 Given below are two statements: in the context of NEP 2020:
Statement I: High performing Indian Universities will be encouraged to set up campuses in other countries.

Statement II: Selected universities from among the top 500 universities in the world will be facilitated to
operate in India

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II is true

it 21 Py A U &: 1ty e =ifd 2020 & FEu &

gl:ﬁﬂmmmﬁwuﬁﬂﬁmﬁmﬁﬁmwm%%mmﬂ
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Objective Question

Read the passage and answer the next five questions. Choose the most appropriate options from the options
given:

As part of the great cultural renaissance generated during the post-independence period. there has occured a
most meaningful encounter with tradition in various fields of creative activity. The return to and discovery of
tradition was inspired by a search for roots and a quest for identity. This was a part of the whole process of
decolonization of our lifestyle. values, social institutions. creative forms and cultural modes.

The modern Indian theatre, product of a colonial theatrical culture, felt the need to search for roots most
intensely to match its violent dislocation from the traditional course. Directors like B.V. karanth, K.N.
Panikar and Ratan Thiyam have had a most meaningful encounter with tradition and, with their work, have
reversed the colonial course of contemporary theatre and put it back on the track of the great Natyashastra
tradition. It sounds paradoxial, but their theatre is both avant-garde in the context of conventional realistic
theatre, and still belongs to the Natyashastra theatrical tradition.

Post- Independence cultural renaissance in Indian theatre focused on

. Development of Western theatre

. Return to traditional Western theatre
. Search for traditional Indian theatre

. Modern Western theatre

i o e T 1 ofgw SR o S wet S e il i fow T it # § woffae suged e w1 90w Sifem

b =

L

T Wi & 918 S AE Gpias Taene 3 geHies Taraiy & Ay 857 F wow % 9y aga ade 9mEn gan 2
TR B T FR TS Al & YaTe WO F1 el aul el S g ¥ Uik 31 7 et get, amte gerst
TS WU qUT iiad JuTH % Geufiaes @ gl sfhar &1 s HET AT

e Ui Treae / TTEE, o Sui-aEE T genia 8 P o 3§ i e § oft e fenfte sl
AT S & Y sicdd diaal & W1y Fef $1 9o $1 ewsdl 9594 311 9.4, F1, F.07. ufiEsy ok 9 g 38
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Objective Question

Read the passage and answer the next five questions. Choose the most appropriate options from the options
given:

As part of the great cultural renaissance generated during the post-independence period. there has occured a
most meaningful encounter with tradition in various fields of creative activity. The return to and discovery of
tradition was inspired by a search for roots and a quest for identity. This was a part of the whole process of
decolonization of our lifestyle. values, social institutions. creative forms and cultural modes.

The modern Indian theatre, product of a colonial theatrical culture, felt the need to search for roots most
intensely to match its violent dislocation from the traditional course. Directors like B.V. karanth, K.N.
Panikar and Ratan Thiyam have had a most meanimgful encounter with tradition and, with their work, have
reversed the colonial course of contemporary theatre and put it back on the track of the great Natyashastra
tradition. It sounds paradoxial, but their theatre is both avant-garde in the context of conventional realistic
theatre, and still belongs to the Natyashastra theatrical tradition.

The return to and discovery of traditional in post- independence era was inspired by

A. Search for values
B. Search for roots
C. Search for realism
D. Search for identity

Choose the correct answer from the options given below:

.A & B only
.D & C only
.B,C &D only
.B & D only
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Objective Question

Read the passage and answer the next five questions. Choose the most appropriate options from the options
given:

As part of the great cultural renaissance generated during the post-independence period. there has occured a
most meaningful encounter with tradition in various fields of creative activity. The return to and discovery of
tradition was inspired by a search for roots and a quest for identity. This was a part of the whole process of
decolonization of our lifestyle. values, social institutions. creative forms and cultural modes.

The modern Indian theatre, product of a colonial theatrical culture, felt the need to search for roots most
intensely to match its violent dislocation from the traditional course. Directors like B.V. karanth, K.N.
Panikar and Ratan Thiyam have had a most meaningful encounter with tradition and, with their work, have
reversed the colonial course of contemporary theatre and put it back on the track of the great Natyashastra
tradition. It sounds paradoxial, but their theatre is both avant-garde in the context of conventional realistic
theatre, and still belongs to the Natyashastra theatrical tradition.

The most significant contribution of Directors like B. V Karanth, K. N. Panikkar and Ratan Thiyam was

. Making Indian theatre totally traditional

. Making Indian theatre backward

. Dislocating Indian theatre from the traditional Indian theatre

. Bringing about an amalgamation of the Indian theatrical tradition with Western realistic theatre
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Objective Question

4930049 Read the passage and answer the next five questions. Choose the most appropriate options from the options
given:

As part of the great cultural renaissance generated during the post-independence period. there has occured a
most meaningful encounter with tradition in various fields of creative activity. The return to and discovery of
tradition was mspired by a search for roots and a quest for identity. This was a part of the whole process of
decolonization of our lifestyle. values, social institutions. creative forms and cultural modes.

The modern Indian theatre, product of a colonial theatrical culture, felt the need to search for roots most
intensely to match its violent dislocation from the traditional course. Directors like B.V. karanth, K.N.
Panikar and Ratan Thiyam have had a most meaningful encounter with tradition and, with their work, have
reversed the colonial course of contemporary theatre and put it back on the track of the great Natyashastra
tradition. It sounds paradoxial, but their theatre is both avant-garde in the context of conventional realistic
theatre. and still belongs to the Natyashastra theatrical tradition.

The Natyasastra tradition refers to

. The colonial tradition

. Avant- garde theatre

. Conventional realistic theatre
. Indian theatrical tradition
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Read the passage and answer the next five questions. Choose the most appropriate options from the options
given:

As part of the great cultural renaissance generated during the post-independence period, there has occured a
most meaningful encounter with tradition in various fields of ereative activity. The return to and discovery of
tradition was inspired by a search for roots and a quest for identity. This was a part of the whole process of
decolonization of our lifestyle. values, social institutions. creative forms and cultural modes.

The modern Indian theatre, product of a colonial theatrical culture, felt the need to search for roots most
intensely to match its violent dislocation from the traditional course. Directors like B.V. karanth, K.N.
Panikar and Ratan Thiyam have had a most meaningful encounter with tradition and, with their work, have
reversed the colonial course of contemporary theatre and put it back on the track of the great Natyashastra
tradition. It sounds paradoxial, but their theatre is both avant-garde in the context of conventional realistic
theatre. and still belongs to the Natyashastra theatrical tradition.

Decolonization is the process of

1. Becoming independent from
2. Becoming dependent on

3. Relying on

4. Learning from
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